

1. 다음 계산 중 옳지 않은 것은?

① $-(2a - b) = -2a + b$

② $-2y(x + 3y) = -6y^2 - 2xy$

③ $2y(5y - 3) = 10y^2 - 6y$

④ $-2x(3x - 4y) + y(x + 5y) = -6x^2 + 10xy + 5y^2$

⑤ $-2x(4x - 3y) - y(x - 3y + 1) = -8x^2 + 5xy + 3y^2 - y$

해설

④ $-2x(3x - 4y) + y(x + 5y) = -6x^2 + 9xy + 5y^2$

2. $(x+A)(x+B)$ 를 전개하였더니 x^2+Cx-3 이 되었다. 다음 중 C 의 값이 될 수 있는 것은?(단, A, B, C 는 정수이다.)

① -3 ② -2 ③ -1 ④ 0 ⑤ 1

해설

$(x+A)(x+B) = x^2 + (A+B)x + AB = x^2 + Cx - 3$ 이므로 $A+B=C$, $AB=-3$ 이다. 따라서 $C = (1-3, -1+3, 3-1, -3+1) = (-2, 2)$ 이다.